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E Mixed P?en;tice j

's the end of Ratio, P i
thars foportion & Algebra — test how much you've learnt with these questions.

Wyatt and Mason share 3 melon.
For every 1 slice Wyatt gets, Mason gets 3

What fraction of the melon does W
yatt get? %

1 mark
On a map, 1 cm represents 10 km.
Michelle’s school is 15 km from her house.
How far apart are her school and her house on the map?

cm

1 mark
Olga has 4 blue pencils and 1 red pencil.
David has 3 blue pencils and 1 red pencil.
Who has the higher percentage of blue pencils?

1 mark
A theatre charges £12 per ticket.
There is also a £3.50 fee for each order.
Circle the formula below that you could use to work out
how much it would cost to order any number of tickets.
Number of Number of

il E12 x = = £3.5
e tickets tickets 0
Number of £12 £12 x Number of | £3
— : 150
£3.50 x tickets tickets
' 1 mark
Hakim buys three tickets. What is the total cost of his order?
f(ff%
£
1 mark
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